$E4-18%k HBEHUHARMEBIZETHAERR (F13FE)

1 BFEZEI (1) —BILERFFHE (HLAT : ppm)
i e 5] iz
H TE Ja | %t G E OB | vekaseErak s ek 6 vk 7 ae ek 8 ek o ] kot B s s sk 1o e [k 3t
i H[E 8 2 =1 0.032 1 0.033 ] 0.032 ] 0.040 | 0.037 | 0.034 | 0.030 | 0.029 | 0.028 | 0.027
O JUE @B 4 3 5] 0.069 | 0.065 [ 0.065 | 0.068 | 0.049 [ 0.056 | 0.052 [ 0.056 | 0.054 [ 0.053
B R E T EEkle m e w & & &l 0.042 1 0.048 1 0.048 1 0.060 [ 0.049 [ 0.046 [ 0.044 | 0.046 [ 0.052 [ 0.051
wHo R ks 2w e g 0.060 ] 0.061 ] 0.056] 0.067 | 0.066 | 0.058 | 0.058 | 0.050 | 0.049 | 0.043
FygEs v s R gE Je g o B R 0.040 [ 0.054 [ 0.048 [ 0.057 | 0.052 | 0.048 | 0.043 | 0.041 | 0.038 [ 0.041
Bl fn /el oE B Wy B o B8] 0.047 | 0.052 [ 0.050 | 0.056 | 0.053 [ 0.037 [ 0.031 ] 0.029 | 0.030 [ 0.030
N HE FR[E A 2 21 0.047 1 0.049 | 0.055 | 0.067 | 0.049 | 0.042 | 0.036 | 0.034 | 0.031 | 0.031
A O JIE B 4 3 & 0.062 ] 0.064 | 0.049 [ 0.067 | 0.045 [ 0.043 | 0.042 | 0.040 | 0.038 | 0.034
(1= vl i) EIE 8 1 7 1 5] 0.037 [ 0.036 ] 0.028 [ 0.027 [ 0.035 ] 0.034 | 0.026 [ 0.031 | 0.028 | 0.026
B 1 M 4 3 B 0.073]0.082 ] 0.064 | 0.067 | 0.058 | 0.053 [ 0.048 [ 0.054 [ 0.063 | 0.060
H WEIE 8 1 7 6 5] 0.068 [ 0.069 | 0.066 | 0.070 [ 0.063 | 0.062 | 0.063 [ 0.054 [ 0.054 | 0.058
el =ikl H W 4 3 B 0.088]0.093]0.073]0.074 ] 0.075 | 0.070 | 0.069 | 0.065 | 0.070 | 0.069
F s » H|E @3 1 7 1 51 0.131]0.116 [ 0.120 ] 0.119 [ 0.129 | 0.129 | 0.116 [ 0. 117 | 0.108 | 0.115
ESlE AiES mlE 8 1 7 6 2] 0.067 1 0.072 ] 0.079 ] 0.098 | 0.087 | 0.085 | 0.086 | 0.084 | 0.087 | 0.090
JII 7 A RUR 98 JE IRyl [ OB 0.072 [ 0.082 | 0.064 — — — — — — —
i SRR B B R OB — — — 0.032 ] 0.037 [ 0.039 | 0.034 | 0.035 [ 0.035 | 0.035
0 wlE 5 4 3 B 0.039 [ 0.040 [ 0.036 [ 0.038 [ 0.040 [ 0.037 [ 0.039 [ 0.045 | 0.046 [ 0.043
i B A m d sE B 0.033 ] 0.032 ] 0.027 [ 0.025 ] 0.028 | 0.028 [ 0.027 | 0.025 | 0.028 [ 0.027
o= R KIE A 2 =1 0.049 | 0.055 | 0.049 [ 0.053 | 0.056 [ 0.052 | 0.050 | 0.046 | 0.047 | 0.044
[i] whlE 5 1 7 5 2] 0.055 ] 0.057 ] 0.056 [ 0.065 | 0.065 | 0.060 | 0.051 | 0.053 | 0.057 | 0.051
it 2l e s #08F A A&l 0.014 [ 0.015 [ 0.013 [ 0.016 [ 0.018 [ 0.015 [ 0.016 [ 0.015 [ 0.014 —
=i kS a2 5 B A m A A& 0.033 [ 0.039 [ 0.033 ] 0.034 [ 0.038 [ 0.035 [ 0.033 ] 0.029 | 0.032 [ 0.031
AN R[E A 2 7l — — — — — — — 0.034 [ 0.022 | 0.050
0 )1 [ l[E & 2 71 0.035 | 0.037 | 0.031 [ 0.033 ] 0.036 [ 0.038 ] 0.031 | 0.032 | 0.034 | 0.034
= A T BlmEsie s 08 mmss | 0.038 1 0.040 | 0.037 ] 0.036 | 0.039 | 0.035 | 0.035 | 0.032 | 0.034 | 0.033
A B ol A myle i o & 0 5 8] 0.057 | 0.049 | 0.046 | 0.055 | 0.050 | 0.042 [(0.036)] 0.035 [ 0.032 | 0.034
o Thin BlE 8 2 21 0.034 |1 0.032 [ 0.024 | 0.035] 0.031 ] 0.030 [ 0.029 | 0.027 | 0.025 [ 0.023
£l PRI E AR % #E R 0.032 1 0.031 ] 0.025 [ 0.038] 0.041 [ 0.038 ] 0.035 | 0.028 [ 0.023 | 0.020
oA Wm0 N[E & 2 2] 0.067 | 0.065 | 0.054 | 0.063 [ 0.075 | 0.068 | 0.063 | 0.058 | 0.060 | 0.060
5o omilh B O WE E 3 1 2 B 0.013]0.018[0.0120.011 [ 0.008] 0.008 [ 0.009 [ 0.007 [ 0.010 [ 0.011
E 5] - ] 0.051 | 0.053 ] 0.048 | 0.053 | 0.050 | 0.047 | 0.044 | 0.042 | 0.042 | 0.044
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1 BEEE (2) —HREERFFHIE (HAZ : ppm)

s e 5] fE

H Jacs Ja) Kf 58 H SPRR 4 4 | SRR 5 AR E [ SRk 6 4R | SRR 7 4EHE [ SRR 8 4R | SRk O 4RI | AR 104 [ SRk 1 14 HE | SRR 24 S | SRR 134T
i 5] [E5] & 2 2] 0.030 | 0.030 | 0.030 | 0.035 | 0.034 [ 0.032 | 0.030 | 0.028 [ 0.030 | 0.028
iz e JI W 4 3 #] 0.037 [ 0.035 | 0.034 | 0.037 [ 0.035 | 0.036 | 0.034 [ 0.033 | 0.036 | 0.034
B W rhlE E T E RR E B W E &5 R 0.032 | 0.034 | 0.035 | 0.037 [ 0.035 [ 0.034 | 0.033 | 0.032 | 0.035 | 0.035
WHZ Ly AR E kR B R 0.035 [ 0.035 | 0.035 | 0.039 [ 0.039 | 0.036 | 0.036 [ 0.034 | 0.039 | 0.036
s R sE 2 i o H o] 0.035 ] 0.035 [ 0.037 | 0.037 | 0.038 [ 0.036 | 0.036 | 0.034 [ 0.034 | 0.032
o i aE e iy B g | 0.032 | 0.030 | 0.034 [ 0.037 | 0.035 | 0.032 [ 0.030 | 0.028 | 0.030 [ 0.029
N iy 25| [H & 2 2 0.036 | 0.037 | 0.040 | 0.038 | 0.037 [ 0.036 | 0.035 | 0.032 [ 0.028 | 0.025
JEis M J1] 4 3 2] 0.037 ] 0.037 [ 0.036 | 0.039 [ 0.032 | 0.031 | 0.030 [ 0.027 | 0.026 | 0.025
wEoE T FlE & 1 7 1 2] 0.033 [ 0.031 | 0.030 | 0.030 [ 0.034 | 0.034 | 0.027 [ 0.030 | 0.031 | 0.029
H + Bl 8 4 3 2] 0.038 | 0.040 | 0.037 | 0.040 [ 0.037 | 0.038 | 0.036 [ 0.035 | 0.037 | 0.037
e walE 5 1 7 6 2] 0.029 ] 0.030 [ 0.032 | 0.033 | 0.031 [ 0.032 | 0.031 | 0.027 [ 0.026 | 0.027
Fr R T HIE & 4 3 £ 0.037 ] 0.041 [ 0.040 | 0.040 | 0.044 [ 0.039 | 0.039 | 0.037 [ 0.039 | 0.038
{Eal il Va mE & 1 7 1 &) 0.043 [ 0.041 | 0.042 | 0.042 | 0.042 | 0.041 [ 0.042 | 0.041 | 0.038 [ 0.042
£ B % MfE & 1 7 6 2] 0.037 [ 0.037 | 0.039 | 0.042 [ 0.042 | 0.041 | 0.039 [ 0.040 | 0.039 | 0.041

JIL ¥ A R 8 Je i o H OB 0.038 | 0.039 | 0.036 — — — — — — —
n PRI G B o | — — — 0.027 | 0.029 | 0.029 | 0.029 [ 0.028 | 0.029 | 0.029
H H M 4 3 #10.034 ] 0.034 ] 0.034 [ 0.032 | 0.037 [ 0.033 | 0.032 | 0.035 [ 0.038 | 0.034
[if] I b & o o Bl 0.035 | 0.035 | 0.032 [ 0.030 | 0.033 | 0.032 [ 0.034 | 0.030 | 0.031 [ 0.030
eoF | K|EH Sl 2 21 0.039 | 0.036 | 0.038 | 0.040 | 0.037 | 0.038 | 0.041 | 0.039 [ 0.035 | 0.033
fic] wlE 8 1 7 5 £ 0.030 | 0.030 [ 0.032 | 0.033 | 0.033 [ 0.033 | 0.029 | 0.029 [ 0.032 | 0.028

it wplE i s 5 oB A & 0.018 | 0.018 | 0.018 [ 0.020 | 0.021 | 0.019 [ 0.019 | 0.018 | 0.019 —
B W E & B A & m A& 0.027 [ 0.030 | 0.029 | 0.030 [ 0.030 | 0.029 | 0.029 [ 0.026 | 0.026 | 0.024
/N N e IE3] 8 2 2z — — — — — — 0.025 | 0.018 [ 0.028
I [i]| [ 8 2 =1 0.028 | 0.026 | 0.028 [ 0.028 | 0.031 | 0.031 [ 0.028 | 0.028 | 0.030 [ 0.030
N BlEie 505 MEHa) | 0.026 | 0.027 | 0.026 [ 0.026 | 0.028 [ 0.027 | 0.026 | 0.025 [ 0.026 | 0.025
A B LR N TR 5 A & 0 2 B8 ] 0.033 | 0.030 | 0.030 | 0.031 [ 0.031 | 0.029 | (0.029)[ 0.025 | 0.026 | 0.025
I S ol . 15} 5| [E Sl 2 21 0.028 | 0.027 | 0.025 | 0.027 [ 0.027 [ 0.027 | 0.024 | 0.027 | 0.027 | 0.026
fif PEIE A Mm% ¥ A 0.027 | 0.027 | 0.028 [ 0.031 | 0.030 | 0.030 [ 0.029 | 0.026 | 0.023 [ 0.022
& i / | [ 8 2 21 0.027 | 0.028 | 0.027 | 0.026 | 0.028 [ 0.027 | 0.026 | 0.027 [ 0.026 | 0.027
= M el AR 2 E & 3 1 2 =] 0.016 [ 0.016 | 0.016 [ 0.015 | 0.015 | 0.015 [ 0.015 | 0.015 | 0.015 [ 0.015
e fm B 0.032 | 0.032 [ 0.032 | 0.033 [ 0.033 | 0.032 | 0.031 [ 0.030 | 0.030 | 0.030
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1 BEFEZEIE Q) —BIbERFFEFHIE (W7 : ppm)
e N ) fiE

T TE J& sf & oaE B PEmassre ek s e 6 e vk 7 s [k s e ek o e e 0 e | [k ok s | 134
i H B 2 = 0.9 0.9 0.8 — — — — — — —
v Al H o4 3 Bl 1.1 1.1 1.0 0.9 0.8 0.8 0.8 0.9 0.8 0.8
Bl mwmo v E B g E B B 14 1.2 0.9 1.2 1.3 1.2 1.2 1.1 1.1 1.0
FREEAREEXABREERE] 0.9 1.1 1.1 — — — — — — —
I /St B Bl o | oA 13 1.2 1.1 1.2 — — — — — —
N W SF 1H 2 = 1.0 1.1 1.1 1.2 1.0 0.9 0.9 0.8 0.8 0.7
HE i ) B 4 3 = 0.9 0.8 0.7 0.7 0.7 0.7 0.7 0.9 0.8 0.8
e T FiE & 1 7 1 =] 0.9 0.9 0.9 0.8 0.8 0.8 0.8 0.6 0.5 0.5
H + EH 4 3 = 1.0 1.0 0.9 0.8 0.8 0.7 0.8 0.7 0.6 0.6
i WEE s 1 7 6 =] 0.8 0.8 0.7 0.7 0.7 1.0 1.4 1.4 1.4 1.1
= R T HIE # 4 3 B 14 1.2 1.0 0.9 1.0 0.9 0.9 0.9 0.9 0.8
[Fil Mk~ FlE & 1 7 1 B 1.9 2.0 1.8 1.5 1.7 1.6 1.5 1.4 1.4 1.3
Ep ks WrlE 35 1 7 6 2] 0.8 0.8 0.9 0.8 1.1 1.0 1.0 0.9 1.0 0.9
JII W A RUE & B i W B oA 1.3 1.2 1.0 — — — — — — —
pill IR GE B I o WA — — — 0.9 0.9 0.9 0.9 0.8 0.8 0.7
H H B 4 3 = 07 0.6 0.6 0.5 0.6 0.6 0.7 0.6 0.6 0.6
[if] Wbk oEm o gE B 0.7 0.7 0.6 0.5 0.6 0.5 0.6 0.6 0.6 0.6
= T JK[[E 1E 2 = 0.8 0.8 0.8 0.8 0.8 0.8 0.8 0.8 0.8 0.7
] ME E 1 7 5 B 0.9 0.8 0.8 0.8 0.8 0.8 0.8 0.7 0.7 0.7
it EBIR B /N 5B A B 0.6 0.7 0.6 0.6 0.7 0.6 0.6 0.6 0.5 —
/5 I SO 1 R E B A & W B 0.8 0.9 0.7 0.8 0.8 0.6 0.7 0.6 0.6 0.5
/N S | 8 2 7 — — — — — — 1.1 0.7 0.8 1.0
il ES [ [E5E 2 55 )13 A 2R R) 0.6 0.7 0.6 0.6 0.6 0.6 0.5 0.5 0.5 0.4
SR L BlmEwE2 508 (Eﬁﬁﬁﬁ@ﬁ‘%) 0.8 0.8 0.7 0.7 0.7 0.6 0.6 0.6 0.7 0.6
AN - N 1 ) e A 1.3 1.2 1.3 1.2 1.1 (1.0) 0.9 0.8 0.8
I T 1) 5 1E 2 = 1.1 0.8 0.7 0.5 0.4 0.8 0.7 0.7 0.7 0.8
fif BRI JE M O B 1.2 0.9 0.7 0.9 0.9 0.9 0.9 0.6 0.7 0.7
A J [l 1E5] 1H 2 = 0.6 0.7 0.5 0.5 0.6 0.5 0.6 0.5 0.5 0.5
oo o B E B 3 1 2 Bl 07 0.7 0.7 0.7 0.7 0.6 0.6 0.6 0.6 0.6
EN Jr) - %) 1.0 1.0 0.9 0.8 0.8 0.8 0.8 0.8 0.8 0.7
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1 BEZE (4) BHHTROEEFHIE (417 : ppm)
iE F ) il

= K G B B |4 sk 5 4R sk 6 4R R PR 7 4R P 8 4 VAR O 4 WA L O S L LR R PR | 2 4| S B4R HE
Je g otk E o JHE & 4 03 B — — — — — — 0.044 | 0.041 | 0.040 [ 0.041
WEZCLIRBIR W ok w B — — — — — — 0.041 [ 0.035 | 0.035 | 0.033
Nk SRE OO E 2 B — — — — — — 0.039 | 0.029 | 0.035 | 0.031
OE ompE M JNE E 4 = — — — 0.050 | 0.043 | 0.040 | 0.041 [ 0.034 | 0.038 [ 0.035
B F B 4 =] 0.046 | 0.040 | 0.046 | 0.040 | 0.038 | 0.033 | 0.030 | 0.028 | 0.033 [ 0.031
el il k4l ME & 4 7| 0.050 | 0.052 | 0.047 | 0.047 | 0.047 | 0.041 | 0.045 | 0.039 | 0.043 | 0.040
{Fil mlEk  »  E[E & 1 7 1 5| 0.068 | 0.068 | 0.069 | 0.069 | 0.065 | 0.063 | 0.062 | 0.055 | 0.054 | 0.051
El RS BTl & 1 7 6 5] 0.050 | 0.046 | 0.051 | 0.050 | 0.049 | 0.047 | 0.045 | 0.042 | 0.045 | 0.044
H WE 4 3 B — — — — 1 0.033 | 0.028 | 0.029 [ 0.028 | 0-032 | 0.031
OF ERIBR Ao o o | — — — — — — — 1 0.033 | 0.037 | 0.033
i XE  E 2 B - — — — 1.0.043 | 0.042 | 0.040 | 0.038 | 9-051 | 0.048
7 WEE 1 7 5 B — — — — — — — — 0.040 | 0.036
B A ik R B A & R — — — — 0.045 | 0.041 | 0.038 | 0.031 | 0.035 [ 0.033
)1 | E 2 =] 0.047 | 0.042 | 0.043 | 0.046 | 0.047 | 0.045 | 0.041 | 0.036 | 0.041 0.035
I i s BlEwes0s mmss) | 0.040 | 0.046 | 0.044 [ 0.046 | 0.047 | 0.043 | 0.038 | 0.034 | 0.037 | 0.037
MRS TR BlE B 2 Bl — — — — — — — — — 0.036
] VER B fE OB VR OBy — — — — — — — — 0.040 | 0.038
PO i 2 ANIE GE 2 51 0.038 | 0.044 | 0.040 | 0.034 | 0.039 [ 0.039 | 0.035 | 0.032 | 0.038 [ 0.039
ol B S| 0.048 | 0.048 | 0.049 | 0.048 | 0.045 | 0.042 | 0.041 | 0.036 | 0.040 [ 0.037

%) —IZHERRREZEDD, T—=ENRNT & E2RT,




2 FREBIEME (1) ZEXRBEBEY
— e 1k = ES —m{bEE
SAEl [ AE oo i?ﬁﬁ@ﬁ FEE —
N e L N T A 1K FEﬁ [IEN Elﬁb HD 0. O6ppm72 D}%_fi H ST7 £ s F'Eﬁ [IEN NO+NO,
Wk R XOBCE B VT s e | EosoetE | Bk ke 0so%fE| T E] o g i :
FHEELC L D) (F4EEH51)
ppm ppm ppm H % ppm ppm %
IS | [E] H 2 =] 0.028 0.104 0. 051 0 100. 0 0.027 0. 448 50. 8
& O JIE #E 4 3 B 0.034 0.121 X 0.061 1 99. 7 0.053 0. 475 39.2
e il E TEERE E B i E B ] 0.035 0.118 0. 056 0 100. 0 0.051 0.521 40. 7
MHZ EH IR B ks BB R R 0.036 0.116 0. 057 0 100. 0 0. 043 0. 447 45,9
U EARIE & JE IR o W | 0.032 0.110 0. 054 0 100. 0 0.041 0.498 14. 2
o/ F Rl E B ik B o ]l 0.029 0. 096 0. 052 0 100. 0 0. 030 0. 407 49,9
N GF JE 2 2] 0.025 0. 081 0.043 0 100.0 0. 031 0.290 44.8
BN w4 3 B 0.025 0. 085 0. 047 0 100. 0 0.034 0. 297 12.1
=1 ] EHIE 3 1 7 1 2] 0.029 0.119 0. 056 0 100. 0 0.026 0.530 52.9
BH 7+ MWE & 4 3 =] 0.037 0.126 0. 058 0 100.0 0. 060 0. 630 38.0
T WhlE 5 1 7 6 B 0.027 0.091 0.041 0 100. 0 0. 058 0. 457 31.8
= &= i HE & 4 3 2] 0.038 0.150 | X  0.065 15 95. 9 0. 069 0.723 35.5
gt Mk~ mE & 1 7 1 2] 0.042 0.110 | X 0.063 7 98.0 0.115 0. 657 26. 6
EECAIES WE 8 1 7 6 +] 0.041 0.100 0. 059 0 100. 0 0. 090 0.724 31.2
JII 78 T I E e ey b OB 0.029 0. 142 0. 055 0 100. 0 0. 035 0. 449 45.2
0 i w4 3 B 0.034 0.130 0. 063 4 98.9 0.043 0.785 14.1
= (dEE) [ M 47 B o B 0.048 0. 147 - 0.072 49 — 0. 095 0. 675 33.8
= T BB #F & 9 ] 0.030 0.130 0. 057 0 100. 0 0. 027 0.433 53. 1
i JK|E] H 2 2] 0.033 0.117 0. 055 0 100. 0 0. 044 0. 402 43.0
i) #E & 1 7 5 2] 0.028 0. 099 0. 049 0 100. 0 0.051 0. 388 35. 3
BH o Tak BE 8 B A & 8 0.024 0.104 0.046 0 100. 0 0.031 0. 388 43. 4
N R JE 2 = 0.028 0. 097 0. 047 0 100. 0 0. 050 0.293 35. 2
ki ES ilEsw 2 & omisqg 20| 0.030 0.120 0. 056 0 100.0 0.034 0. 356 46. 7
= B T BlEE 25 048 (HE&E) | 0.025 0.081 0. 042 0 100. 0 0.033 0. 352 13. 6
AN By R AR WrIR A i 0 B ] 0,025 0. 096 0.041 0 100. 0 0.034 0. 200 42.9
[ T s 8 2 =] 0.026 0.115 0.043 0 100. 0 0.023 0.222 53.0
i BEIE E i B ¥ B 0.022 0. 097 0.043 0 100. 0 0.020 | 0.205 52. 9
A Tl J = JE 2 =] 0.027 0.144 0. 043 0 100. 0 0. 060 0. 470 30. 7
ool B O KE & 3 1 2 & 0.015 0. 057 0. 025 0 100. 0 0.011 0.131 59. 3
UZ) 1 #Em=EiE, $E ECHlE LTV 5 7 DB i Ol 244 T 5,
2 XENIBREERERER OB R,
3 () IXERIERRIEICE L QO RV R A E T,
E L mE ek E (35)
= B & = FE LS o,
HI7E R s g | 1M | o | DL R o | 1RO 0O,
e fiE 98% i [[ﬁ%ﬂ@ﬁﬂlct %) e fiE (ﬁ;‘z‘/y}j
I o ppm ppm ppm H % ppm ppm o
SR [P [EIE3 0.037 0.140 0. 066 9 97.5 0. 042 0. 449 16. 8




2 FREAIEE (2) —8lExzEkR. xibKE
— B b R F FE X X v F R b K FE [EmibKE
6~9KF |6 ~9KF
1 wps | 8 IS E‘ﬁ?}?ﬁ ggﬂ%?ﬁé %{%ﬁ;ﬁ g%ﬁ?
3 . . T SALIK[ER > j8)o)i| [ S| ERMEDY [ IE DS T
(E'J rE )% )QL % ﬁ % $$i@1ﬁ @%%1@ ZQpﬁméfg(E Bz $$1’31ﬁ @fﬁqzi‘éj 0. 20ppuC |0. 31ppmC ﬁz:l:y/j1ﬁ
<= H %% i Bz | B2
H %% H %%
ppm ppm H H ppmC ppmC H H ppmC
JE IRy ﬁﬁﬁ JiE JII w4 3 2] 0.8 6.3 0 0 0. 25 0. 30 229 131 2.09
BT UGBk p BB R W] 1.0 5.8 0 0 0. 40 0. 65 195 174 2.24
N # =] i 2 = 0.7 5.5 0 0 0.28 0.37 281 193 2.10
O O JIE @E 4 3 =] 0.8 4.5 0 0 0.21 0. 24 194 86 2.01
L= F) FEIE 558 1 7 1 8] 0.5 4.9 0 0 0.25 0.29 224 135 2.05
B+ HEE & 4 3 #| 0.6 4.7 0 0 0.19 0.28 215 128 1.97
5 wilE E 1 7 6 B 1.1 3.6 0 0 0.14 0.15 72 21 1.94
= &= T HE & 4 3 B 0.8 4.9 0 0 — — — — —
FATFR - EE @B 1 7 1 2] 13 6.8 0 0 — — — — —
E-AES lE 8 1 7 6 2] 0.9 4.6 0 0 — — — — —
JI1 78 D IR E B R o W ORY 0.7 5.6 0 0 — — — — —
0 ik w 4 3 B 0.6 6.0 0 0 — — — — -
—=m (s R E M =7 B oA B 1.5 5.1 0 0 — — — — —
F iy v T dBlBR o o E ¥l 0.6 3.5 0 0 — — — — —
i NR[E i 2 = 0.7 6.8 0 0 — — — — —
i) ME 5 1 7 5 =] 0.7 3.2 0 0 — — — — —
B A AR R 5 B A &5 W 0.5 4.3 0 0 — — — — -
NN | 8 2 =] 1.0 5.5 0 0 — — — — —
) | ]|l 2 B OIS A /3 R) 0.4 4.5 0 0 — — — — —
= A | BlEsEos0s mmegs) | 0.6 3.8 0 0 — — — — —
DB HE R HTL%:EJJHEJII/J\ Erf% 0.8 3.6 0 0 — — — — —
el % 8 0.8 3.7 0 0 0.26 0. 30 286 158 2.00
fit EEE JE AR Et% HE ﬁ@% 0.7 3.1 0 0 0.19 0.23 168 70 1.90
fHAEHM 2 NE E 2 2] 0.5 2.3 0 0 — — — — —
B oml R O WE E 3 1 2 5] 0.6 6.3 0 0 — — — — —
Uk®E)  #hAm=mid, 8ol L CHlE LTV 5 = 0 BB D P %I 8240 Tdb 5
A GIRY I RICEKBHEEEHFEA R ERER (FRI13EE)
— Mk b % = R EES . IR
H {30, 06ppm 4 - BHERIEL | HHIME | 5 g | gy
BIEHA GBI g4, epsyf | R BT SED M I | 4 VR | | | g T | |
Rttt A%k e
ppm ppm ppm EEES % ppm ppm % ppm ppm E| H — | m/s
FPF ko BN ENE1715 0. 036 0.215 0. 050 0 100 0. 067 0. 448 26. 6 0.9 5.3 0 0 NE [ 0.7

i 5]
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FHEAEME ()

FE IR E

. i L s 3 |1 B R OfE 2 ARSI TN 4 ¥ HEEAM
me/m’ ng 1113 B - |2 7B mg/m’ m & 2 72 B
R I T )] EiE4 35 0.041 0.273 10 5 A 0. 090 2
W H IR VB K B R IR R 0.033 0. 248 3 A 0. 065 2
N S EE 2 & 0.031 0. 243 2 0.077 0
[EN=aT H I EiE4 3% 0.035 0. 256 5 0.093 0
i EiE4 35 0.031 0. 249 17 2 0.078 0
R T H EiE4 35 0. 040 0. 344 12 4 A 0. 092 2
FrH kA T EiE171% 0.051 0. 302 13 4 A 0.094 2
Est il *x i) EE176% 0. 044 0. 326 11 3 A 0. 086 2
W5 EE4 35 0. 031 0. 251 2 A 0.071 2
R o Bl A e O I 0.033 0.248 4 A 0. 081 2
kit -
IE 7K ELE 2 & 0. 048 0.321 13 8 X 0.104 3
[i3] i EE1 755 0. 036 0. 241 2 0.079 0
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)i | SE ] | EE 25 Onid)llsg 8R) 0. 035 0.233 2 0. 081 0
T H 5 [Ei&2 505 (BMEEER 0. 037 0.279 11 8 X 0. 104 3
HE B T iy % EiE 2 = 0.036 0. 258 8 4 0.081 0
fi i3 VEL T A B AR R 0.038 0.258 8 3 0.083 0
FEAETH w2 N EE 2 &5 0.039 0.271 6 4 0.083 0
ZYAIE R B AT 24 B 0. 037 0.270 0. 084
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M CTOREM Z R GUTFIM L, 1RFEMEA30. 20mg/ni LAF, 232, HEHIEAS0. 10mg/ nt
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[HSEHIMEAR0. 10mg/m’ %48 2. 7= H ¥ O 1L Lol T H

3 ZOFRICEWT [EERIEAN. 20mg/m’ %48 2 7- R %) O, 7213,

2T, EHRORT I CRRETIE N RER TH D 2 & 2R T
E s EWERR (B5)

TAJ 1Z, 2 H T B A EA

PR fE

1 FRfEE O i

1 FF O 2

H 5 fE 2

H HME D20 BRIME

BRETELME D K HIRIREAMG (=

i 0.20mg/ m ° %[0. 10mg/ m*® % # LAH %Zi@1ﬁ?§0. 10mg/
HER kI GoE e/ e/ #B xR |2 7o B3 e/ mZz#E 2= B
SRR T EENDE ELE 4 35 0.037 0.292 6 1 0.076 0




FRAIEME (4) ZEIERE

1R | A e H 2B A ﬁ%ﬁ%fﬂ;
BoE R sto% o % e DRI o 1oong ) 0. oapenz | 5 PO 0o )iy
2 TR BB 2 - Bk < 0T Z7-H ,75;2 A g
Lff’%ﬁ‘%gt 0. 04ppm% 8
ppm ppm EALE H % ppm |~ TR AR

N SF B 2 =l 0.007 0.103 1 0 0.016 O 0
(iR 1 b - A Al B 4 3 Al 0.008 0. 109 1 0 0.017 O 0
B 7 & B 4 3 =l 0.008 0.117 2 0 0.017 O 0
R T t B 4 3 Al 0.008 0. 106 1 0 0. 020 O 0
(Gl gk » i B 1 7 1 B o0.008 0.100 0 0 0. 020 O 0
ER e i1} E o1 7 =1 0.006 0. 122 2 0 0.015 O 0
= TR b B 4 3 = 0.005 0.091 0 0 0.015 @) 0
i 7K I 2 = 0.005 0.078 0 0 0.013 O 0
Bl A Ak VR E B A & W ] 0.007 0. 082 0 0 0.018 O 0
o 1 | [l | (=5 2 & U131 28 %) 0. 006 0. 064 0 0 0.015 O 0
SR il L BlE# 2 5 045 (HESK) 0. 006 0. 068 0 0 0.013 O 0
MHOAE HH 2 N Gl 2 = 0.003 0. 048 0 0 0. 009 O 0
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